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= 102,586 92,959 9,627
Il 815,625 824,166 A8,541
= 337,939 336,254 1,685
Al 840,694 812, 171 28,523
HALEZZNH2Y 417,260 415,560 1,700
| 174,130 182,650 28,520
& 40,978 40,978 0
Al 202,152 191,932 10,220
=HECE2Y 131,350 117,650 13,700
| 58,825 58,825 0
Al 72,525 58,825 13,700
101 @124 H| 41,890 39,650 2,240
| 19,825 19,825 0
Al 22,065 19,825 2,240
04 JIZtH22HSE+ 41,890 39,650 2,240
OELEEERCTE 41,890,002 41,890 39,650 2,240
| 19,825 19,825 0
Al 22,065 19,825 2,240
201 Et2Ed| 47,060 35,600 11,460
| 17,800 17,800 0
Al 29,260 17,800 11,460
01 At 22l 47,060 35,600 11,460
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QIO X B E A 64,700 81,740 A17,040
] 32,350 40,870 78,520
Al 32,350 40,870 28,520
307 21Ztol ™ 64,700 81,740 A17,040
Il 32,350 40,870 A8,520
Al 32,350 40,870 28,520
01 22+ =l 64,700 81,740 217,040
OLQIoXEEANA 64,700,000& 64,700 81,740 217,040
| 32,350 40,870 28,520
Al 32,350 40,870 28,520
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201 gEt2dd| 27,500 24,500
Il 13,750 12,250
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Al 6,875 6,125
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S 0 750
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= 4,875 4,875
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Il 641,495 641,516
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Al 610,342 592,039
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Al 10,000 5,000 5,000
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Il 5,000 5,000 0
Al 10,000 5,000 5,000
01 922+ =l 15,000 10,000 5,000
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| 5,000 5,000 0
Al 10,000 5,000 5,000
XXl Z22eldl K& 52,500 52,500 0
| 26,250 26,250 0
& 7,870 7,870 0
Al 18,380 18,380 0
201 L EH2FH| 1,700 0 1,700
| 850 0 850
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Al 600 0 600
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| 850 0 850
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307 S12H0| & 50,800 52,500 21,700
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Al 17,780 18,380 A 600
01 =¥ =H] 0 52,500 252,500
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= 9,627 0 9,627
S 1,685 0 1,685
Al 724 0 724
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= 9,627 0 9,627
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Al 724 0 724
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= 1,786 1,043 743
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Al 664,002 658,602 5,400
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301 et a3 1,500 0 1,500
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AAELAE Y 20,000 10,000 10,000
= 6,000 3,000 3,000
Al 14,000 7,000 7,000
307 2I2toI 20,000 10,000 10,000
= 6,000 3,000 3,000
Al 14,000 7,000 7,000
o1ozxrz 20,000 10,000 10,000
ORIt E AR 20,000,000& 20,000 10,000 10,000
= 6,000 3,000 3,000
Al 14,000 7,000 7,000
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